
y

x

𝐼1: −2𝑥 + 𝑦 ≤ 2



y

x

𝐼1: −2𝑥 + 𝑦 ≤ 2
⇝ 𝑦 ≤ 2𝑥 + 2



y

x

𝐼1: −2𝑥 + 𝑦 ≤ 2
⇝ 𝑦 ≤ 2𝑥 + 2

𝐼1



y

x

𝐼1: −2𝑥 + 𝑦 ≤ 2
⇝ 𝑦 ≤ 2𝑥 + 2

𝐼1

𝐼2: 𝑦 ≥ 𝑥 + 2



y

x

𝐼1: −2𝑥 + 𝑦 ≤ 2
⇝ 𝑦 ≤ 2𝑥 + 2

𝐼1

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼2



y

x

𝐼1: −2𝑥 + 𝑦 ≤ 2
⇝ 𝑦 ≤ 2𝑥 + 2

𝐼1

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼2



y

x

𝐼1: −2𝑥 + 𝑦 ≤ 2
⇝ 𝑦 ≤ 2𝑥 + 2

𝐼1

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼2𝐼3



y

x

𝐼1: −2𝑥 + 𝑦 ≤ 2
⇝ 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4









Intersection of
𝑥3 ∘𝑢 𝑡 𝑥1, 𝑥2
𝑥3 ∘𝑙 𝑡[𝑥1, 𝑥2]

where
∘𝑢∈ {<,≤}
∘𝑙∈ {>,≥}



Intersection of
𝑥3 ∘𝑢 𝑡 𝑥1, 𝑥2
𝑥3 ∘𝑙 𝑡[𝑥1, 𝑥2]

where
∘𝑢∈ {<,≤}
∘𝑙∈ {>,≥}

Or
0 ∘ 𝑡 𝑥1, 𝑥2

where
∘∈ {<,≤,>,≥}



y

x

𝐼1: 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4



y

x

𝐼1: 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4

𝐼3: 𝑥 ≤ 3



y

x

𝐼1: 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4

𝐼3: 𝑥 ≤ 3

𝐼1 + 𝐼2: 2𝑥 + 2 ≥ 𝑦 ≥ 𝑥 + 2



y

x

𝐼1: 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4

𝐼3: 𝑥 ≤ 3

𝐼1 + 𝐼2: 2𝑥 + 2 ≥ 𝑦 ≥ 𝑥 + 2

𝐼1 + 𝐼4: 2𝑥 + 2 ≥ 𝑦 ≥ 4



y

x

𝐼1: 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4

𝐼3: 𝑥 ≤ 3

𝐼1 + 𝐼2: 2𝑥 + 2 ≥ 𝑦 ≥ 𝑥 + 2

𝐼1 + 𝐼4: 2𝑥 + 2 ≥ 𝑦 ≥ 4

𝐼5 + 𝐼2: −
𝑥

2
+ 8 ≥ 𝑦 ≥ 𝑥 + 2



y

x

𝐼1: 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4

𝐼3: 𝑥 ≤ 3

𝐼1 + 𝐼2: 2𝑥 + 2 ≥ 𝑦 ≥ 𝑥 + 2

𝐼1 + 𝐼4: 2𝑥 + 2 ≥ 𝑦 ≥ 4

𝐼5 + 𝐼2: −
𝑥

2
+ 8 ≥ 𝑦 ≥ 𝑥 + 2

𝐼5 + 𝐼4: −
𝑥

2
+ 8 ≥ 𝑦 ≥ 4



y

x

𝐼1: 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4

𝐼3: 𝑥 ≤ 3

𝐼1 + 𝐼2: 2𝑥 + 2 ≥ 𝑥 + 2

𝐼1 + 𝐼4: 2𝑥 + 2 ≥ 4

𝐼5 + 𝐼2: −
𝑥

2
+ 8 ≥ 𝑥 + 2

𝐼5 + 𝐼4: −
𝑥

2
+ 8 ≥ 4



y

x

𝐼1: 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4

𝐼3: 𝑥 ≤ 3

𝐼1 + 𝐼2: 𝑥 ≥ 0

𝐼1 + 𝐼4: 2𝑥 + 2 ≥ 4

𝐼5 + 𝐼2: −
𝑥

2
+ 8 ≥ 𝑥 + 2

𝐼5 + 𝐼4: −
𝑥

2
+ 8 ≥ 4



y

x

𝐼1: 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4

𝐼3: 𝑥 ≤ 3

𝐼1 + 𝐼2: 𝑥 ≥ 0

𝐼1 + 𝐼4: 𝑥 ≥ 1

𝐼5 + 𝐼2: −
𝑥

2
+ 8 ≥ 𝑥 + 2

𝐼5 + 𝐼4: −
𝑥

2
+ 8 ≥ 4



y

x

𝐼1: 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4

𝐼3: 𝑥 ≤ 3

𝐼1 + 𝐼2: 𝑥 ≥ 0

𝐼1 + 𝐼4: 𝑥 ≥ 1

𝐼5 + 𝐼2: 4 ≥ 𝑥

𝐼5 + 𝐼4: −
𝑥

2
+ 8 ≥ 4



y

x

𝐼1: 𝑦 ≤ 2𝑥 + 2

𝐼2: 𝑦 ≥ 𝑥 + 2

𝐼3: 𝑥 ≤ 3

𝐼4: 𝑦 ≥4

𝐼5: 𝑦 ≤ −
𝑥

2
+ 8

𝐼1 𝐼2𝐼3

𝐼5

𝐼4

𝐼3: 𝑥 ≤ 3

𝐼1 + 𝐼2: 𝑥 ≥ 0

𝐼1 + 𝐼4: 𝑥 ≥ 1

𝐼5 + 𝐼2: 4 ≥ 𝑥

𝐼5 + 𝐼4: 8 ≥ 𝑥


